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THE OPEN UNIVERSITY OF SRI LANKA
CERTIFICATE IN INDUSTRIAL STUDIES
FINAL EXAMINATION - 2010/2011
TTI2634 - APPAREL TECHNOLOGY
DURATION - THREE HOURS

DATE: 10.03.2011 ' TIME: 0930 - 1230 Hours

Answer Question 1, which is compulsory and additional five (0S) questions.

Question 1 carries twenty-five (25) marks and Questions 2 to 8 carry fifteen (15) marks

each.

1. a  Listout the measurements needed to draft men’s basic trousers. (02 marks)
b.  State the six classes of stitches used in garment industry. (03 marks}
c.  What is the marker efficiency? {02 marks}
d.  State three (3) factors that would affect the lay planning. (03 marks)

e. Whatis the importance of insertion of drill marks and notch marks to the fabric
pieces? (02 marks)

f. - What are the three (3) methods that used to remove stains from grey fabrics?

(02 marks)
g List out the five (5) pressing equipments which are used in the garment industry.

(03 marks)
h.  What are the five(5) major functions of management? (03 marks)
1. Performance evaluation process has two main purposes. What are they?(02 marks)

J- What are the three(3) types of disciplinary processes which are widely used in the
industry? , : (03 marks)

2. a. Define the term “Seam” according to the British Standard. (03 marks)

b.  Which seam types represent the following seam classes?
Class 1, class 2, class 3, class 4, class 5, class 6, class 7 and class 8.
(04 marks)

c.  Describe the applications of eight classes of seam. (08 marks)



State the main features and applications of the following presser foot types.
(i) The hinged foot
(ii) The compensation foot

(iif) The Teflon foot | (09 marks)

Compare the following feeding types.
(i} Drop feed and differential drop feed ,
(1) Drop feed and unison feed - _ (06 marks)

Briefly explain the factors that you should consider during selecting a interlining

for a fabric. (05 marks)

Write descriptive notes 611 the followings.
(i) Shoulder pads
(ii) Buttons . ' (10 marks)

List and briefly describe the requirements of spreading. (05 marks)

Explain the two forms of spreads which are widely used in the industry.

(04 marks)
Explain the two methods of spreading and compare their advantages and
disadvantages. _ | (06 marks)
State five (5) factors that would affect the perfect line balancing. (03 marks)

Find how many  work places would be needed for each operation to manufacture
150 garments within a 8 hour working day by assuming operators as standard

perfonﬁance. (12 marks)



No _ Operation | SMYV per Garment

1 Sub-assembly | 6.3

2 Under press - _ 3.25

3 Sew pockets _ 7.83

4 Close seams 4.70

5 Hemming 2.80

6 Hand finish 11.60

7 Press ‘ 042
State the two types of twist found in sewing threads. (04 marks)
Briefly explain the importance of twist in sewing threads. (04 marks)
What is the ticket number of a sewing thread of 120 Nm/4? _ (07 marks)
Explain the concept of communication. ' (06 marks)

Distinguish between vertical, horizontal and lateral communication in a business

organization. ) ' (09 marks)



